o BUKE AR L

AEMFL - AR



- BOKEATROR T8

Mok

i

-1
T 20 JEAR - <1k BT AlFC e SR Hoh:
POKE | BlKE YIRS
R

Bk AR Y = F L & |HPPE

R EE ¢ 200X 5000 PN 1 +2 3
Bk AR Y = F L & |HPPE

Rz B ¢ 150 X 5000 A 1 1
Bk AR Y = F L & |HPPE

FL—x o REE | ¢$200X5000 PN +3 3
Bk HIAR Y =F L % |HPPE

FL—x o REE | ¢ 150X5000 PN +3 3
BOKHR Y =F L BT

Jryb ¢ 300 1 1 1
BOKHRY =F L BT

My b ¢ 200 eS| 1 1
BOKHR Y =F L BT

MZ90° N K ¢ 200 (e 4 4
BlAKFAR Y =F L o AE T

M5290° N2 | ¢ 150 1 2 2
BlAKFAR Y =F L o AE kT

Miaz45° N R ¢ 200 (e 2 2
BlAKAR Y =F L o EHETF

Miaz45° N K ¢ 150 IE 6 6
BLAKAR Y =F L AT

Mi5222° 1/2X2 K | ¢ 200 (e 1 1
BLAKAR Y =F L AT

MZ11° 1/4X2 K | ¢ 200 (e 1 1
BLAKAR Y =F L AT

MAZ11° 1/4_2 K | ¢ 150 1# 1 ’
BOKAR Y =F L AT

2907 R R ¢ 200 18 1 1
BAAKARY =F L AT

F5245” RUR ¢ 200 18 2 2




- BOKEATROR T8

Mok

CI

-2
Tl ZAN JEAR - <1k HAL AlFC pe5s AL B
PORE | AdKE YIRS
BUKRHY =5 L T
R5%45° X2 R ¢ 150 1 1
BUKAH Y =5 L T
R5%22° 1/2_ K | ¢ 200 2 2
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Rs2757y g $200 GF 7.5K 1 1 1
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$300 H2.74mf  FRTENE
RPN S Abyn = A [R] S 35S Ao N= 2 = 2
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] @] @] @] 4 | | | |
Bl | 5.000 1.520 | 1.580 | 1.000 | 0.820 | 4.920 | 0.080
w| | | | 2 || | | | |
B2 | 5.000 2.850 | 1.080 3.930 | 1.070
@] | | | 2 || | | | |
B3 | 5.000 3.270 | 1.010 4.280 | 0.720
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
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| | | | | | | | | |
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A ¢ 300 RF7.5K yh | N= 1 1
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RO T 300A u] N= 3 3
RO T 150A u] N= 2 2
RIS T #6300 HHr | N= 1 1
Rk AT
H=HVAETE T ¢ 300 ] N= 2 2
Rk
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A=Ak T T ¢ 300 ] N= 2 2
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PREREME T $ 200 m L= 50.0 50. 0
PREREME T ¢ 150 m L= 14.0 14.0
BEERE G T ¢ 200 5] N= 9 9
BEEKE O L ¢ 150 5] N= 2 2
77/ EFRR ERE T | ¢ 150 ul N= 2 2
(AREIETS TENN ¢ 200 5] N=
o ERET 5] N= 2 2
<Shyd >
MR T ¢ 200 kg | W= | 50.00 31.17 | ke/m 1558. 50
¢ 150 kg | W= | 14.00 23.73| kg/m 332.22
1890. 72
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b = VERET T |TS ¢ 50 u} N= 3 3 6
ke =L EGE T | ¢50 5] N= 3 3 6
PR T LT ¢ 50 u] N= 1 1 2
BERRE N e T TTENLZIVTEAN = N= 1
FH R NEE
¢ 300 V=] 13.3 mX 0.30 | 2% /4 0. 94
FH R NEE
¢ 150 V=] 12.3 mX 0.15 | 2X = /4 0.22
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a0 ZAN * A VA =]k
i FFR Bk FHA
t=15cmPL T
AL T As m L= | 35.18 | 7.26 = 42. 44
A AR A T As m2 A= | 29.72 | 6.30 = 36. 00
ARy T m3 V= 2.97 0.32 = 3. 00
Fet R H T m3 V= 1203.50 = 204. 00
bk T RC-40 m3 V= | 31.69 = 32.00
A T i m3 V= |129.60 = 130. 00
AT m3 V= | 57.95 = 58. 00
BT RC-40 t=29cm m2 -
BT RC-40 t=26cm m2 -
BT RC-40 t=10cm m2 -
A8 1E T FE#RIEASIS  t=5em m2 A= | 36.02 = 36. 00
RAEIR T AR EEAs13  t=4dem m2
s VAERIE IS VASRE: 5= <
LI EACGLER 75T GREREEIEY) t G= | 42.44 |/240 *1.53  [*1.1 = 0.30
BRETRIK H=2.0
TREERE T TR 1B m L= | 10.13 = 10.13
BRETHRK H=3.0
TR E T TIRT 2B m L= 7.88 = 7.88
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P —— fER]IE TERIR REUIBAS TRE IR LA — Ep—— BRER AT ER it REHL | REHEL | IBSEL | IBREL
R £1E EEIE B TEEINE F [ #EBGE | t=10cm | t=5cm | t=10cm [ t=5cm L3 H R BOiER [E35 HEER | RELTIER t=5cm t=4cm h=2.0m h=3.0m
(m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m3) (m3) (m3) (m3) (m3) (m3) (m3) (m3) (m3) (m3) (m3) (m) (m)
EE 2212 0.900 1.000 3.212 1.000 1.900 1.707 6.42 6.10 9.81 10.11 10.11 6.10 3.21
EhE 1.913 0.700 0.500 1.013 1.000 1.700 1.707 2.03 1.72 2.77 2.85 2.85 1.72 1.01
EE 0.755 0.700 0.500 0.755 1.000 1.700 1.075 1.51 1.28 1.25 1.32 1.32 1.28
ELE 2.277 0.356 1.277 0.600 0.903 2.55 0.77 0.62 0.42 0.23 0.42 0.77
EE 1.450 1.350 1.000 2.450 1.000 2.350 1.175 4.80 5.76 6.19 6.48 6.48 5.76
EhE 2.908 0.356 2.408 0.600 0.903 4.82 1.44 1.16 1.23 0.29 1.23 1.44
EE 0.115 1.100 0.500 0.615 1.000 2.100 1.175 1.23 1.29 1.39 1.45 1.45 1.29
ELE 1.309 0.500 0.809 1.000 1.500 1.710 1.62 1.21 1.95 2.01 2.01 1.21 0.81
=& 1.865 0.500 0.500 2.365 1.000 1.500 1.680 4.73 3.55 5.61 5.78 5.78 3.55 2.37
EE 1.734 1.415 1.000 2.734 1.000 2.415 1.710 547 6.60 10.63 10.96 10.96 6.60 2.73
BFIEEAS 0.898 0.356 0.398 0.600 0.903 0.80 0.24 0.19 0.14 0.09 0.14 0.24
EHEAS 1.534 1.100 0.500 2.034 1.000 2.100 1.175 4.07 4.27 4.59 3.74 3.74 4.27
BFIEEAS 1.194 0.500 1.194 1.000 1.500 1.175 2.39 1.79 1.93 1.57 1.57 1.79
0.00
e 0.00
A 2.881 1.100 0.500 3.381 1.000 2.100 1.175 8.34 7.63 7.63
B F 0.778 1.600 0.278 1.000 2.600 1.175 0.85 0.78 0.78
B F 1.655 1.600 1.000 2.655 1.000 2.600 0.688 4.75 4.06 4.06
B F 1.335 1.642 0.500 1.835 1.000 2.642 1.000 4.85 4.36 4.36
B F 1.280 1.490 0.280 1.000 2.490 1.050 0.73 0.66 0.66
BF 6.193 1.000 1.000 7.193 1.000 2.000 0.950 13.67 12.23 12.23
A 3.380 0.500 1.000 4.380 1.000 1.500 2.392 15.72 15.06 15.06 4.38
BF 2.500 1.000 3.500 2.500 2.667 23.34 22.46 22.46 3.50
BT 0.00
BFI 5.000 8.000 0.503 20.12 16.12 16.12
4.380 8.000 1 35.04 31.54 31.54
3.500 8.000 1 28 25.20 25.20
fhsgEa o) — b= EELY
BF [AmEE [ 2.46
R | EmE T a] [ 1.82
A |EE FAR~BESRE ¢ 1505 ED 2.20
EE @ LA ~BEERE ¢ 150 [ 5.81
EE [Em EE~BERE ¢ 3005EHAD 4.59
A [AE T ~BEERE ¢ 300iE Y 9.38
E 35.18 7.26 29.72 6.30 203.50 42.61 10.92 42.61 145.55 15.95 145.55 57.95 36.02 0.00 10.13 7.88
E [ 35.18] 7.26] 29.72] 6.30] 203.50] 0.00] 42.61] 10.92] 31.69] 145.55] 15.95] 129.60] 57.95 | 36.02 | 0.00 | 10.13 | 7.88 |
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BHi5iTh
L& (2) T (2) (3) (4) (5) (6)
HLarsysy—+r 18-8-25 0.30 + 0.30 + 0.10 1.00 + 1.00 1.00 3.70 m® 3.7 m°
L& (2) T (2) (3) (4) (5) (6)
HLavyy— R 1.00  + 1.00 + 0.50 0.70 + 2.00 2.00 7.20 m? 7 m?
L& (2) T (2) (3) (4) (5) (6)
3.00 + 4.00 + 1.00 5.00 + 2.00 2.00
0.30 1.00 2.00
0.10 0.20 1.00
avyyYy—+¢ 18-8-25 21.60 m? 22 m?
L& (2) B (2) (3) (4) (5) (6)
9.00 + 1200 + 8.00 13.00 + 9.00 11.00
5.00 8.00 23.00
0.50 1.00 3.00
Eidp 102. 50 m?2 103 m?
EmTUh- L& (2) & (2) (3) (4) (5) (6)
HEBET D13 x L500~ 600 8.00 + 8. 00 + 2.00 2.00 + 6.00 2.00 28 R 28 AT
(8%0. 60+20%0. 50) *0. 995=14.73
14.73/1000=0. 014 0.01 t 0.1 t
L& (2) TE (2) (3) (4) (5) (6)
AABET + + 1.00 + 1.00 1.00 3 BIRT 3 B
L& (2) TE (2) (3) (4) (5) (6)
ERET + + 1.00 + 2.00 7.00 10 #% 10 #%
L& (2) TE (2) (3) (4) (5) (6)
WriE + + 0.30 + 1.00 3.00 4.30 m® 4.0 md
L& (2) TE (2) (3) (4) (5) (6)
EILZILFIE + + 0.04 + 0.10 0.10 0.24 m° 0.2 m?
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£ o R # = H=E wHH=E
<EmLE>
BiGTs
HyLarvyl)—=k 1.855 * 1. 800 * 0.100 = 0.33 0.33 m?® 0.3 m?
yLary)—rEP ( 1.855 + 1.800 ) * 0.100 * 2 = 0.73 0.73 m? 1 m?
avy)—+k 1.655 * 1. 600 * 1.359 = 3.60
- /4 * 0.180 "2 % 1.82 = -0.05
- /4 * 0.250 "2 % 1.81 = -0.09
it 3. 46 3.46 m° 3 md
pivp cd ( 1. 655 + 1. 600 ) * 1.359 * 2 = 8.85
- n/4 * 0.180 ~2 x 1 = -0.03
- /4 * 0.250 "2 * 1 = -0.05
- n/4 * 0.267 "2 % 1 = -0.06
- /4 * 0.356 "2 * 1 = -0.10
it 8.61 8.61 m? 9 m?
EmTUh- EKE BlKE
HEBRET D13 x 600 4 + 4 = 8 8 AT 8 &R
0.33 = 0.33
1.289 % 2.063 / 2 * 1. 600 = 2.13
H R B 2. 46




hiEa >0 )—FI BEa LY U — FEER Q) SR

% 7 g # = HE WO =
<FETFH>
HiBITH
yLarvyy—»k ( 1.257 + 1.614 )/ 2 * 1. 800 * 0. 100 = 0.26 0.26 m® 0.3 m’
BHLarvyy— LB ( 1.257 + 1.614 + 1.800 * 1. 839 ) * 0. 100 = 0. 65 0.65 m? 1 m?
( 1.157 + 1.514 )/ 2 * 1.600  * 0. 700 = 1.50
( 0.119 + 0.100 )/ 2 * 0. 047 * 1. 600 = 0.01
( 1.187 + 1.190 )/ 2 * 0. 553 * 1. 600 = 1.05
( 0.969 + 1.293 )/ 2 * 0.810 * 1. 600 = 1.47
- /4 * 0.180 "2 % 3.91 = -0.10
- /4 * 0.250 "2 x 3.74 = -0.18
avo)—+h =t 3.75 3.75 m® 4 md
0. 700 * 1.600 * 1 = 1.12
0. 700 * 1.639 * 1 = 1.15
0. 700 * 1.514 * 1 = 1.06
0. 700 * 1.157 * 1 = 0. 81
1.103 * 0.553 * 2 = 1.22
2.060 * 1.639 * 1 = 3.38
( 0.969 + 1.293 )/ 2 * 0.810 * 2 = 1.83
( 0.119 + 0.100 )/ 2 * 0.047 * 2 = 0.01
1.639 * 0.810 * 1 = 1.33
- 7w/4 x  0.268 "2 % 2 =  -0.11
- 7w/4 x  0.356 "2 % 2 =  -0.20
pidh e it 11. 60 11.60 m? 12 m?
EmTUh- EKE BEKE
HEBRET D13 x L500 4 + 4 = 8 8 &R 8 T
0.26 + 1.50 + 0.01 = 1.77
0.553 * 0.703 * 1.639 = 0.64
BRI B 2.41




fhEa> o —FI BEa LY — MEER Q) SR

4 £ R # =® HeE WHHE
<FEE TR ~BRRE ¢ 15054558 >
ik LIRS
HLavyy—+k 1.300  * 1.000 % 0.100 = 0.13 0.13 m® 0.1 m®
HLayvyy— LR ( 1.300 + 1.000 )x 0.100 = 2 = 0.46 0.46 m? 0.5 m?
0.500 * 0.500 * 3.380 = 0.85
0.500 * 0.500 % 1.892 = 047
- 7w/4 % 0.180 "2 % 527 =  -0.13
avoy—+¢ H 1.19 1.19 m® 1 m
0.500 %  3.380 =« 2 = 3.38
0.500 % 0.500 = 2 = 0.50
0.500 %  1.892  * 4 = 378
- /4 % 0.180 "2 x 1 = -0.03
EiTp e 5 7.63 7.63 m? 8 m?
[E3TH
1.100 %  0.800 *  0.850 = 0.75
- 0.800 * 0500 % 0.700 = -0.28
- 0.900 * 0600 % 0.150 = -0.08
- 0500 % 0700 *  0.150 = -0.05
avoy—+¢ Ak 5 0.34 0.34 m?® 0.3 m®
5t 1.100 %  0.850 2 = 1.87
5 0.800 * 0.850 = 2 = 1.36
™ 0.800 * 0.850 = 2 = 1.36
™ 0.500 % 0.850 = 2 = 0.8
= -0.500 *  0.700  * 2 = -0.70
stk= 0.150 *  0.500 1 = 0.08
stk= 0150 *  0.700 2 = 0.2
R £ 5.03 5.03 m? 5 m?
avyy—+t = 0.900 *  0.600 *  0.150 = 0.08 0.08 m? 0.1 m?
g ( 0.900 + 0.600 )% 0.150 =% 2 = 0.45 0.45 m? 0.5 m?
EXE
AERBET 0.34  x 2300 = 782 kg 1 A 1 Bk
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% o1 B £ = e BHHE
BuEE
ERET 0.08 2300 = 184 ke 18 1
E/TUh- BLKE

HEETET D13 x L500 2 = 2 2 2 &
i) 0.28 /4 * 0.180 "2 % 1.11 = 0.25 0.25 m® 0.3 m®
EILRIILFE (0.500 0.700 - /4 * 0.267 "2) * 0.150 = 0.04 0.04 m?® m®
ERER 0.13 1.19 + 0.75 = 2.07




fhi€a o —+T

oo ) —FEER @SR

% g R # =% HE WOKE
<Zm LI ~BIE ¢ 150>
RigITH
( 0747 + 0810 )/ 2 * 1.800 *  0.100 = 014
( 092 + 2581 )/ 2 *x 1.300 *  0.100 = 023
( 1.340 + 0.8%84 )/ 2 *x 1.300 *  0.100 = 014
Larsy—r £ 0. 51 0.51 m® 1 m
( 0747 + 0810 )/ 2 * 0.100 = 008
( 092 + 2581 )/ 2 * 0.100 = 018
( 1.340 + 0.8 )/ 2 * 0.100 = 011
(  1.800 + 1.300 ) * 0.100 = 0.3
#HLavyy— rE & 0.68 0.68 m? 0.7 m?
(  0.747 + 0.810 )/ 2 *  1.600 *  0.700 = 087
( 092 + 2581 )/ 2 * 1.100 *  0.700 = 1.36
( 1.340 + 0.8 )/ 2 * 1.100 *  0.700 = 0.86
( 0632 + 0365 )/ 2 *  0.500 *  0.500 = 012
( 2.604 + 2843 )/ 2 *  0.500 *  0.500 = 068
( 1.734 % 1.415 — 0.638 + 0174 / 2
* 070 = 1.68
/4 x  0.180 "2 % 7.41 =  -0.19
/4 x  0.250 "2 % 3.24 =  -0.16
/4 x  0.165 "2 % 1.73 =  -0.04
/4 x  0.319 "2 1.64 =  -0.13
avHy—+h & 5.05 5.05 m® 5 m?
( 0.747 + 0810 + 0.962 + 2581 + 0.884 + 340
+ 1600 + 1.100 ) *x 070 = 7.02
( 0.365 + 0.632 + 2604 + 2843 + 0500 )
x 050 = 347
( 1.734 + 0.661 + 1.09 + 1.415 + 1.241 )x .50
- 0.500 %  0.500 = 28
/4 x  0.180 "2 % 2 = -0.05
/4 x  0.250 "2 % 1 = -0.05
/4 x  0.356 "2 % 1 =  -0.10
/4 x  0.165 "2 % 2 = -0.04
/4 x  0.319 "2 % 1 = -0.08
pig 5 12. 99 12.99 m?2 13 m?
EmHTvh- EKE
WERERET D13 x L500 2 = 2 2 B 2 R




hiEa > o )—FI BiEo Ly U — FEER () SR

% 5 R # o e BHHE

18R 0.51 + 5.05 = 5. 56




fEEa o —FI Bo L) — AR G) BB

4 b R # =R H= wHH=E
<ZELEH~BERET ¢ 300K >
b ERA)

( 1. 650 * 1.200 + 0. 350 * 1.200 ) * 0.100 = 0.24
( 2.113 * 0.900 + 1.612 * 1.100 ) * 0.100 = 0.37

HyLavoy—+4k g 0. 61 0.61 m° 1T md
( 1. 650 + 1.550 ) * 0.100 * 2 = 0.64
( 2.113 + 1.612 ) x 0.100 * 2 = 0.75
( 1.100 + 0.900 ) * 0.100 = 0.20

BHLavyy— L8R E 1.59 1.59 m? 2 m?
0.750 * 0.700 * 0.700 = 0.37
( 0.439 + 1.232 ) / 2 * 1.913 * 0.700 = 1.12
0.900 * 1.512 * 0.700 = 0.95
- /4 * 0.250 "2 x 3.42 = -0.17
- /4 * 0.318 "2 % 0.90 = -0.07
- /4 * 0.165 "2 % 0.90 = -0.02

avyl)—+k g 2.18 2.18 m? 2 md
0.750 * 0.700 * 2 = 1.05
0. 700 * 0.700 * 1 = 0.49
( 0.439 + 1.232 ) / 2 * 1.913 * 2 = 3.20
0.439 * 0.700 + 1.232 * 0.700 = 1.17
1.512 * 0.700 * 2 = 2.12
0. 900 * 0.700 * 1 = 0.63
- /4 * 0.250 "2 % 1 = -0.05

pig e E 8. 61 8.61 m? 9 m?




fhe€o > )—+T

frsgEa >y — MEER O) S8R

% b1 R # = HE WO =
EZ 3RS,

1.450 % 1.000 %  0.850 = 1.23
1.000 * 0.350 %  0.850 = 0.30
- 1.150 % 0.700 %  0.700 = -0.56
- 0.350 % 0.700 %  0.700 = -0.17
- 1.250 * 0.800 %  0.150 = -0.15
- 0.800 % 0.350 %  0.150 = -0.04
- 0.500 =* 0.700 %  0.150 % 2 = -0.11

avoy—+¢ K B 0.50 0.50 m*® 1 m
5} 1.450 %  0.850  x 1 = 1.23
5 1.350 *  0.850 % 1 = 1.15
5} 1.000 *  0.850  x 1 = 0.85
5 0.350 *  0.850 1 = 0.30
5} 0.450 *  0.850 = 1 = 0.38
5 1.000 * 0.850 =% 1 = 0.85
A 1.150 %  0.850 1 = 0.98
A 0.700 *  0.850 1 = 0.60
A 0.450 *  0.850 1 = 0.38
A 0.350 * 0.850 = 1 = 0.30
A 0.700 *  0.850 1 = 0.60
A 1.050 *  0.850 % 1 = 0.89
fikE -0.500 % 0. 700 * 2 * 2 = -1.40
k= 0.150 *  0.500 2 * 1 = 0.15
f8kE 0.150 * 0. 700 * 2 * 2 = 0.42

E g B 7.68 7.68 m? 8 m?
1.250 % 0.800 %  0.150 = 0.15
0.800 0.350 %  0.150 = 0.04

ayvyy—»k = H 0.19 0.19 m? 0.2 m?
( 1.250  + 0.800 )x 0.150 = = 0.62
(  0.800 + 0.350 )x 0.150 % = 0.35

e H 0.97 0.97 m? 1 m?

HBEEES
AEFZRET 0.50 * 2300 = 1150 kg 1 &FfRr 1 &R
EbE
0.15 * 2300 = 345 kg
ERET 0.04 * 2300 = 92 kg 2 1K 2 K




fhiEo o J—F+T

fhiEa >y ) — EER (5) 28

% Lo iy £ = HE BHHE
E=HTUh- BEKE
HEBRET D13 x L500 6 6 6 & AT 6 &R
i) 0.56 + 0.17 - /4 * 0.250 "2 % 1.80 0.64 0.64 m° 1 m
ELZILFE 0. 500 * 0.700 * 0.150 * 2 0.1 0.11 m® 0.1 m?
BRER 0. 61 + 2.18 + 1.53 4.32




fhEEa >V —FI BEa LY ) — FEER (6) BB

4 b1 R b = HE WHHE
<ZEHE TE~BEEXE ¢ 3003EHEE0 >
BiGiTs
2.500 “2% 7 /4 * 0.100 = .49
1.525 * 0.900 * 0.100 = 0.14
3.500 * 1.200 * 0.100 = .42
2.543 * 1.200 * 0.100 = 0. 31
0. 350 * 1.200 * 0.100 = .04
HyLarvoy—+4k £t 1. 40 1.40 m?® 1T md
( 1.815 + 1.529 + 0. 900 + 3.500 + 1. 200 + 2.400 +
2.643 + 1. 550 + 1.200 + 0. 450 + 2.643 )
wLarvoy)— rEPR * 0.100 = 1.98 1.98 m? 2 m?
1. 650 * 1.130 * 0.700 = 1.31
1.425 * 0.700 * 0.700 = 0.70
0.700 * 0.700 * 1.437 = 0.70
- /4 * 0.250 "2 % 2.40 = -0.12
- /4 * 0.356 "2 % 1.72 = -0.17
avo)—Fk g 2.42 2.42 m? 2 md
1. 650 * 1.130 * 2 = 3.73
0. 700 * 1.130 * 1 = 0.79
1.715 * 0.700 * 1 = 1.20
1.429 * 0.700 * 1 = 1.00
0.700 * 0.700 * 1 = 0.49
1.437 * 0.700 * 4 = 4.02
- /4 * 0.318 72 % 2 = -0.16
pig e £t 11.07 11.07 m? 11 m?




fhEEa >V —FI BEa LY ) — FEER (6) BB

% b1 R # = HE WO =
EZ 3RS,
3.300 1.000 %  0.850 = 2. 81
2.543 1.000 *  0.850 = 2.16
0.350 1.000 %  0.850 = 0.30
- 3.000 * 0.700 %  0.700 = -1.47
- 2.543 % 0.700 %  0.700 = -1.25
- 0.350 % 0.700 %  0.700 = -0.17
3.100 0.800 * 0.150 + 2543  «* 0.800 *  0.150

0.350 0.800 %  0.150 = -0.72
0.500 0.700 %  0.150 = -0.05

avoy—+ K H 1.61 1.61 m® 2 md
5} 3.300 *  0.850 1 = 2. 81
5 2.543 x  0.850 2 = 4.32
5} 0.350 *  0.850 1 = 0.30
5 1.000 * 0.850 =% 2 = 1.70
5} 1.350 *  0.850  x 1 = 1.15
5 2.300 * 0.850 1 = 1.96
A 0.700 *  0.850 2 = 1.19
A 3.000 * 0.850 1 = 2.55
A 2.543  x  0.850 2 = 4,32
A 0.350 * 0.850 = 1 = 0.30
A 1.050 *  0.850 * 1 = 0.89
A 2.300 * 0.850 1 = 1.96
fikE -0.500 % 0. 700 * 2 = -0.70
k= 0.150 *  0.500 1 = 0.08
f8kE 0.150 * 0. 700 * 2 = 0.21

e H 23.04 23. 04 m?2 23 m?
1.000 * 0.800 %  0.150 = 0.12
1.000 % 0.800 %  0.150 = 0.12
1.100  * 0.800 %  0.150 = 0.13
1.000 % 0.800 %  0.150 = 0.12
0.543 % 0.800 %  0.150 = 0.07
1.000 % 0.800 %  0.150 = 0.12
0.350 0.800 %  0.150 = 0.04

avy)—+k = B 0.72 0.72 m® 1 me




fhiEa> o Y—+bT oLy ) — MEER (6) SR
A # 10 0 = HE WHHE
( 1.000 + 0.800 )= 0.150 * 2 = 0.54
( 1.000 + 0.800 )= 0.150 * 2 = 0.54
( 1.100 + 0.800 )= 0.150 * 2 = 0.57
( 1.000 + 0.800 )= 0.150 * 2 = 0.54
( 0.543 + 0.800 )= 0.150 * 2 = 0.40
( 1.000 + 0.800 )= 0.150 * 2 = 0.54
( 0. 350 + 0.800 )= 0.150 * 2 = 0.35
B 5 348 3.48 m? 3 2
EREE
AAEZET 1.61 * 2300 = 3703 kg 1 &/ 1 & ff
EREs
0.12 * 2300 = 276 kg
0.12 * 2300 = 276 kg
0.13 * 2300 = 299 kg
0.12 * 2300 = 276 kg
0.07 * 2300 = 161 kg
0.12 * 2300 = 276 kg
EHET 0.04 * 2300 = 02 kg 71 #% 71 #%
E/RTUN- EKE
HEBTET D13 x L500 2 = Y 2 BT 2 BT
WIEE 1.47 + 1.25 + 0.17 - 7 /4 * 0.250 "2 % 5.99
= 2.60 2.60 m?° 3 md
EILARILFEIE 0.500 * 0.700 * 0.150 = 0.05 0.05 m? 0.1 m
BEER 1.40 + 2.42 + 5.27 = 9.09
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JOvoRBIHERER
# & Al il Al b7} % B = 1
r+ I
HEAl m3 2
R1E m3 11
HR AL m3 6
B+ AL m3 1
HLans m3 5
HET
JOovyRT Zav 5L m 9
ZARET m3 1
KipT 1:0.3 m 7
HEpT 1:0.3 m 7
NOwkT H=1.88m t=0.30m H® 1




* =2 &
R& ==) n'l' ﬁ 1R &Y
oAl
E A
RO
£ Lo B =1 = B W =
[+ 1)
PEHI Rt EEZ LY 2.10 | m3 2
R Rt EE LY 10.70 | m3 11
HR AFRETEE XY 6.40 | m3 6
Bt RBEMETEE LY 0.70 | m3 1
Eiusn (2.10+10.70)-(6.40+0.70)/0.9 491 | m3 5
[JovyiEaTI])
JOvoiEL BT EE LY 850 | m 9
EHL)
AR BT EE LY 0.70 | m3 1
HEBET BRI &LY. L=7.00m 700 m 7
Kim L ERRE&Y. L=7.00m 7.00 m 7
hOiET BRI LY. N=1H 1.00| # 1




TTIHEHRE

4 . g iR R (fFELT)
B @ M| FMHMER I R | M E R FONER I R
m m2 m2 m3 m2 m2 m3
NO.2+13.0 0.30 - 2.10
NO.2+17.0 4.00 0.30 0.30 1.20 1.30 1.70 6.80
NO.3 3.00 0.30 0.30 0.90 1.30 1.30 3.90
& 7.00 2.10 10.70




TTITHEHRE

op

a g - BREETT) Bt
o Om W THNER| u B | OE % | TONEE T M
m m2 m2 m3 m2 m2 m3
NO.2+13.0 1.20 0.10 -
NO.2+17.0 4.00 0.80 1.00 4.00 0.10 0.10 0.40
NO.3 3.00 0.80 0.80 2.40 0.10 0.10 0.30
7.00 6.40 0.70




TJovOBIHRERHE

% H& -~k = = =
avy—kJovotE A= 1.1*3.0+(1.10+1.50)*0.5*4.0 8.5 m2
KARE RC-40 V= 0.1x7.0 0.7 m3
Xigars)—k | 18-8-20BB | L= 7.0 m
AT 18-8-40BB | L= 7.0 m

O Lk T (FREE) 18-8-40BB | N= 1.0 #




JavotE B B

HES

7300

S I i
%EO - N x N=Fi: B
=1 |
Bl . v e w =
G %) " = BE | & =2
avy)—rJovoig A= 1.1*3.0+(1.10+1.50)*0.5*4.0 m2 8.50
ZARA _
Re.10 V= 0.10x7.00 m3 0.70
KiRERAT : —
VU®D75 N= 8.5/2.0 &= AT 5.00
L= 0.35%x5.0 m 1.75
0
Wt I AL 41 A= 0.30x0.30x5 m2 0.45

300x300




E#aL))—~ HEHESE

100,

250

100,
b
i
kS
o

100,

430

630

10.0m&Y
i | . 136 70 " =
b 5 = g | w8
avol)—k B
18-8-40BB V= (0.25x0.10+1/2%(0.10+0.25)x0.33)x10.00 m3 0.83
R A= (0.10+0.25)x10.00 m2 3.50
EERE _
RC-40. t=100 A= 0.63x10.00 m2 6.30
B it A= 0.25x0.10+1/2%(0.10+0.25)*0.33 m2 0.08

t=10mm




Ximav2—+ BEHEAEE

t=10mm

A= 1/2x(0.68+0.69)x0.10

680
- * o
° o 2
~
! 690
10.0m%4Y)
(';% fg) L = i | % OB
fgg 2IJ0EE V= 1/2%(0.68+0.69)x0.10x10.00 m3 0.69
B A= (0.10x1.044+0.10%1.020)x10.00 m2 2.1
B ih#f m2 0.07




MOLET(RE) HEBHEE

t=10mm

300 680
310 | 370
—~ |
o .
g Bl \
~ \
35
o o
B =]
2
o
300
1.0&%Y
oAl - oy x =
~ 1] —
i'sfg 4JOB'E; V= (0.37x1.88+1/2x(0.31+0.35)%0.40)x0.30 m3 0.25
. e (()oésoh1.88+1/2><(0.31+o.35)xo.40)x2+(1.96+0.41+1.55)>< o b g
B3t A= 0.37x1.88+1/2%(0.31+0.35)x0.40 m2 0.8
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BRER/KERIZE - BIRT Bk ERS R
& Eo K = #HeE WHHME
BRERK BRI ET XmE&klY 6.79 m 7T m
BEERKEREIRT ARAT XmE&klY 2.36 m 2 m
BEERKEREIRT B4 7 XmE&klY 4.98 m 5 m




BEER/KIREE - BIHET Bk RERSE

4 b R # = #HE wH#H=
<BESUKBRERIEL > <10m%Y>
iR L 0.15 0.30 +( 030 + 0.255 ) /2% 015 10 0.87 m3| 0.9 m3
SEY - IE 0.87 m3| 0.9 m3
<ABALT> <10m%Y>
Suhy—k 0.15 0.30 +( 030 + 0.25 ) /2% 015 10 0.87 m3| 0.9 m3
B 0. 45 0.30 ) « 10 750 m2| 7.5 m2
ERRE RC-40t=10cm 0. 425 10 495 m2| 43 w2
<B%&RAT> <10m%y>

0.60 050 - 030 * 03 - 0.0 005 )

2vhy—F ) « 10 193 m3| 1.9  m3
Rfh 0. 50 0.35 ) « 2 « 10 1700 m2| 1.0 m2
ERRE RC-40t=10cm 0.70 10 700 m2| 7.0 m2
JL—F U908 300;& 1= 6 ] 6 ®
ERET 6 ® 6 ®
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